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QUESTION 1

Which valve is found between the left atrium and the left ventricle?
A. the tricuspid valve

B. the pulmonary valve

C. the aortic valve

D. the mitral valve

Correct Answer: D

QUESTION 2
Which of these statements regarding the "oxygen debt" created during heavy exercise is true?

A. Oxygen debt is created due to build-up of acetic acid in the muscles, which needs a high level of oxygen to be
oxidized.

B. Oxygen debt is created due to build-up of lactic acid in the muscles, which needs a high level of oxygen to be
oxidized.

C. Oxygen debt is created due to build-up of lactic acid in the liver, which needs a high level of oxygen to be stored.

D. Oxygen debt is created due to build-up of lactic acid in the muscles, which needs a high level of carbon dioxide to be
oxidized.

Correct Answer: B

QUESTION 3
Fill in the blanks:

Vitamin A, also known as ,isa vitamin. Its deficiency can lead to

A. ascorbic acid, water-soluble, night blindness
B. calciferol, fat-soluble, osteoporosis
C. retinol, water-soluble, osteoporosis
D. retinol, fat-soluble, night blindness

Correct Answer: D

QUESTION 4
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Which of these statements is false regarding blood cells?

A. Mature red blood cells are oval, bi-concave discs with a lifespan of 120 days.

B. White blood cells are larger and less abundant than red blood cells.

C. Phagocytes and lymphocytes are the most numerous types of white blood cells.

D. Mature red blood cells are bi-concave discs that have a central nucleus and long life span.

Correct Answer: D

QUESTION 5
B B
B BB Bg
g Bg gg

What is the possibility that the offspring produced will have brown eyes? B = alleles for brown eyes; g = alleles for green
eyes

A. 100%

B. 75%

C. 50%

D. 25%

Correct Answer: B

Dominant genes are always expressed when both alleles are dominant (BB) or when one is dominant and
one is recessive (Bg).

In this case, 3/4 or 75% will have brown eyes.
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